R VCE & PDF https://lwww.geekcert.com/asvab-section-4.html
' 2024 Latest geekcert ASVAB-SECTION-4 PDF and VCE dumps Download

GeekCert.com

ASVAB-SECTION-49As

ASVAB Section Four : Automotive & Shop Information

Pass ASVAB ASVAB-SECTION-4 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/asvab-section-4.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ASVAB
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

Latest ASVAB-SECTION-4 Dumps | ASVAB-SECTION-4 VCE Dumps | ASVAB-SECTION-4 Study Guide 1/ 3


https://www.geekcert.com/asvab-section-4.html
https://www.geekcert.com/asvab-section-4.html
https://www.geekcert.com/asvab-section-4.html

VCE & PDF https://lwww.geekcert.com/asvab-section-4.html
2024 Latest geekcert ASVAB-SECTION-4 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

The twisting force that causes rotation is properly referred to as
A. energy

B. horsepower

C. MPH

D. torque

Correct Answer: D

QUESTION 2

Which type of bolt is has a square section that grips into the part being fixed (typically wood) to prevent the bolt from
turning when the nut is tightened?

A. Hex bolt

B. Eye bolt

C. Carriage bolt
D. Set bolt
Correct Answer: C

A carriage bolt has a domed or countersunk head and a shank that is topped by a short square section under the head.

QUESTION 3

ABS is a modern four-wheel system that prevents the wheels of the car from locking up.
ABS stands for

A. anti-break system

B. anti-lock brake system

C. automatic breakaway system

D. armed blocking system

Correct Answer: B

QUESTION 4

Latest ASVAB-SECTION-4 Dumps | ASVAB-SECTION-4 VCE Dumps | ASVAB-SECTION-4 Study Guide 2/ 3


https://www.geekcert.com/asvab-section-4.html
https://www.geekcert.com/asvab-section-4.html
https://www.geekcert.com/asvab-section-4.html

VCE & PDF https://lwww.geekcert.com/asvab-section-4.html
2024 Latest geekcert ASVAB-SECTION-4 PDF and VCE dumps Download

GeekCert.com

Which automotive system uses universal joints, a drive shaft, and a clutch?
A. the transmission system

B. the braking system

C. the steering system

D. the cooling system

Correct Answer: A

The clutch is used to engage and disengage the transmission. The drive shaft is used to transfer power from the engine
to the wheels. Universal joints are special linkages in the transmission system.

QUESTION 5

Which of these is not a cutting tool?
A. allen wrench

B. circle snips

C. hacksaw

D. shears

Correct Answer: A
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